S4 Exam Revision Questions solutions ammended 2016.notebook

Q1. Calculate the area of PQR
2 Area = 7 absine

T O-Sx I0XIGX A 70
b4 9B

10 cm, J0 cm

2 marks

Q3. Calculate the length of PR

stz bi4ct-2WbcCasA
x(asb)

= 120xl
c SN iom b [PR] %= (20  HUC® o™
140m N sCus2
P ° PRl Vo < 237 4
3 marks

Q5. Calculate the area of the rectangle,
give your answer as a surd in its simplest

form.
-A: L" B
A= \Ex\’{o\/

A-Veo

NE)
Azr‘/

3 marks

A line passes through (-2, 3) and (3, -5).
State the equation of the line.

m::jl-:j‘ -5-3 _E
I W N

g-b:m()(-o&

3'3"2—@( +2>/

53-!5:-'6::.“‘5 /

3 marks
Find the equation of the line through the point (-1, 4) which is parallel to the
line with equation 3x —y+2=0.
?C/O—klzl lnes = zci\ao-‘ N fenb
¢ 4220
\(j = Do 4 2.\/
wAzd
b renbe-=
\3 L= ‘5(>C +\>\/
Rceao
3 marks
A function f is given by f(x) = 25> = x - 9.
Which of the following describes the nature of the roots of f(x) = 0?
A No real
o real roots bL-L‘G\C
B Equal roots
4 G- bz—-1 <= -"T
@ Real distinct roots

(- -4

| +7112
=732 S0 S
BN Rgoj ook d(SHnCJL'
/

D Rational distinct roots

3 marks
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In the diagram below the volume of the cylinder is double that of the cube.

Q7.

:’T“rlt\

25cm
Calculate the height of the cylinder. - 15L25X2 - 3|2s 3
V- LxbxH v = >1250em
V- 5x XS 3l2s0o-= h’XZOl""\/

3
V= |5515c~\\/ 3250 (_Mml) _
o

hesd srem

4 marks

Q9.

Calculate the area of the triangle, give your

answer as a surd in its simplest form.

P\=lz(fo>)
i A= (VexvE)

. A=+ (V55)/
A=t (VT V3)

"
h= ? :zﬁ/

3 marks

Q1 1 The stem and leaf diagram shows the cost of cars in a show room
.

104557
11 2306
12 015557
137580 10‘ 4 represents £10 400
<
(a) Find the range of the costs = }\bc\oo -~ o400
(b) Find the median cost. {3500

[b)m don o 1200044U00
N T pnese

2 marks

Find the range of values of & such that the equation kx? - x — 1 = 0 has no real
N ceod rods > br-loe %O/
P A
SR ATS \L}
\4Uy LG
W &Y

ke s

roots.

3 marks

Here are two statements about the roots of the equation »* +x+ 1= 0:

(1) the roots are equal; bz -Yec

(2) the roots are real. -l b= 1 el

Which of the following is true? Ly ) J
(&) Neither statement is correct. ./’ = -4

B Only statement (1) is correct. -4 =3 L\y

C  Only statement (2) is correct.

D Both statements are correct.

3 marks
In the diagram RSTU, VWXY represents a cuboid.
- > -
SR represents vector f, ST represents vector g and SW represents vector A.
.
Express VT in terms of f, g and h.
Y -
. — T - =
i R i Y
v
T
f gl
1 mark
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The number goals scored by 20 football teams on Saturday were

Q13
O

0 1 2 3 4 5

(a) What is the modal number of goals scored? | (MOSL CQN\"‘\Q
(b) Find the median. [

v
2 marks
Q15. Calculate the total volume
V-mith 4 3w
\/ \/ 18cm|
V:\fon_‘xls) +(§xwuz‘xl§ I
\/=¢78S sy \4}714.39/ 1o
Vs asootien® -
5 marks

Q17. Simplify

= -1 3 3
Sn” xdn” 20/
lon"

:Qn‘/

10n~

2 marks

The equation 3x2 + x + m = 0 has equal roots. What is the
value of m? L -Ya c=Q /
G=3 b=l c=m

3 marks

7 - 8x - x2 is expressed in the form a - (x + b)2. What is the
value of a?

—l[x‘ x 81-?‘]
-l [(xw)‘-te-ﬂ
]
= -(erd)-33

=23

Higher Level

Here are two statements about the roots of equation
x2-x-2=0 bt -toe .~
c=tlb=-t ¢=-2
(o -4y S
(1) The roots are rational | +® =9 Vo

(2) The roots are real Pesfect squo™

Which of the following is true?
A Neither statement is correct.

B Only statement 1 is correct.

C Only statement 2 is correct.

@ Both statments are correct. 3 marks

April 20, 2016
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Q19.

The cost of a holiday increased by 8% from the years 2001 to 2002. If it
cost £540 for the holiday in 2002, what was the cost in 20017

(ouo - 1034 /
|1.- s40%103=5 S
lco 7. = 5 x\00: E£50°

3 marks

Q21. Find the value of

3 3 > s
N2 - ?«53 -9 =%

2 marks

The marks of 7 pupils in an advanced higher maths exam were Q2 3
.

77 67 43 90 66 93 75
Calculate the mean and standard deviation of these marks.

Another group of 7 pupils who sat the same exam had a mean of 78 and a standard
deviation of 3.2.

Make two comparisons of the marks of the two groups.

5= 005703 /X PR e (feodn
hll Y " - ~-l
61 |-6 B
43 | -30 [T S-= @/
90 (] 259
% [ 49 N
P P [ s2 25233
1S | v 4] S<ics
n=1 nay S

e ebﬁd Sva-f af 5\\4.&/\*2 o o & ?L/F!I'h—\qd lzvﬂt/

(Nhe mean) \/c/v\d st rce consiskob resuhs (lewsor
stadod desshin) 4+ 2 marks

April 20, 2016

In the diagram, ABCD represents a tetrahedron. A

BC represents p, CD represents q,
s y ‘

representsr, BA representss,

q
CA representst and DA represents u. ’; c
One of the statements is false, which one?
A p=-q+s-u
B _ S
C r=-p-t+u
D s=p+q+u

1 mark

A line through the points A(2k, 3) and B(k, 5) has a gradient of 4.
What is the value of k?

ey 22y s

ot [V AVS
“W. = L"\/
PRV x-\
2z = =
A

K‘—"i\/

3 marks

(x + 4)(x - 2) can be written in the form (x + a)2 + b. What is :the

value of b?  oe* s rux -

xt »1x -3
(s -1 -8
(xs 1=

b=t/

2 marks
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Q25. Q26. Solve
The large Magellanic cloud is 1.69 x 10'* kilometres 11.‘. S
from Earth. Write this distance as an ordinary number. }L(X + 5 ) _ Q G =9
1490000900 000 000 cicy 4 - x4 oY
S TH45>x = 2L ‘/
<t 5% -3 =C \/_ \/
e — guoe ¥ 97 N
o T Y o x= -1 \/
1 mark
4 marks
Q27. Write the vector AC in terms of A and Q28.
B
s - RE
e
=/ (t4)3 -4/
D
° 1 mark 1 mark
Write the vector AE in terms of aand b
Q30. Find the diagonal AC
Q29. Fi E Re = /
o2 S \Ac\: g+ g b o)
/ = e =\

2 marks

1 mark
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The following rectangles have the same area. Find the value of x.

(x+2)em

(x-Dem

(x+3)em

(x+8)em

Area = (xB ;
S Area= (9(+8§Cx-\‘) Area z (x'*}-)(’& )

So (x4 D= (e +D(s¢ -\-3) \/
X xamie -8 T XTe3 00 ¥ 6
» _ - a1
X4k -§ = o= -\-?:x-»é\/

w
- -0
Tx-% = Bxt g
18 &
L= Sx 41y
-3 -
S =S 4 marks
2x = |y
&g, .
b <2
x=9v"
Marks
5. The following diagrams show a triangle ABC. [N b’t.‘ CL Co SA
(N = ° - Lo
h™ L "~ _
A (BB = b _—
(zx b 4 X1
7.2m Cors W °)
ks
s “ c \'P&?:\ =z (\/‘5 l
64 S_
m “ B = 26 51 /
(a)  Caleulate the length of AB (to 2 significant figures). -
Y Do not use a seale drawing. 25.15m ‘/ 4
(b)  Calculate the arca of triangle ABC. - S-2m 2
Af‘ ca = w\aso‘\c.
~d .
S Bxbyx7- ?.xSmL\L&L/
= bt
m\/
10.  Inthe diagram below PT is a tangent to the circle. O is the center of the circle and angle RPT is 38°
Find the size of angle ORS. o <
< a {s) 4%
S \?0 - ("'\ \/)
P
R
-
(I8 -128) =2 :

Q32.
Write the vector AM in terms of rand q

]

M is the midpoint
1 mark

Write the vector AD interms of aand b
Q34. 222+

\
A\

1 mark
b
y

Q(;E)
<

>
%
r//

@
(@]

Write the vector AC interms of aand b

Q3. . .

Y

:E.‘:

o
N

1 mark

April 20, 2016
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Write the vector BC interms of sand t

Q37.
Q38.
2 3 Fe = —i-(g*fy
Evaluate 3= 1= B
5 4
wS s M
’ B 35 322 2 1 mark
==, " w6 e T 4 > c
~ t
2 marks
¢0.8) 2.29)
Q39 . Write the vector EC interms of sand t
‘ 70 ~5-3 20
=222 Q40.

o i 2~ > v =2 : eratb
50 | /] C B gl =227~
p / =D \/ = o -}\7-?
0 7/ S 9= \0)&":5/ b
;(Y P |‘
"V D 4

0 1 2 3 4 5 & 7 1 mark

Find the equation of this straight line in the form y =mx +¢
E F
3 marks
41. 42. Find the diagonal AC
Q Q ) AC:. ;Tt.,‘%t/«
AC} =593
Express ¥ = x2 4+ 8x — 7 in the form y = (x + a)® + b and hence state E G Nt
. . . =
the coordinates of the turning point. - (e & WY -6~ 16em A : _'.‘57
- (X*-L\\z"g‘g
Y A ° c
= (-4 'Qé)/ “em
A Tcm B

3 marks
2 marks
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Q43. Q44. Find the height
E Y t
((y 0T (
(PR «f i
— - = =% f AL
t - t N \/ —,'_—Acz'i'l*%“""‘/
2 q.8%: :2L175
e = &f‘fw
v
1 mark
4 marks
Q45. 7 Q46. Rationalise 1 2
s the denominator
L = 3\/
2 —
y SO LT
V6
1 mark
2 marks
Q47. Simplify Q48. Multiply out and simplify (Nm(,,,ﬁ;

(3x%y)? g/ ey

-\ yNEAE

(1+vV2)2 -

2 marks 2 marks
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Q49.
6y3x2 vo - R
4y®
2 marks
Q51.
Solve

S

:‘?:tj/

4x -5>2x-15

Ux-57 e

A5 pre. 3 \/
Yy x=te
e =R /
2% =0 /
=™ -5

3 marks

Q53.
P=R%-5

Change the subject of the formula to R.

p=R*-3
PrS =?~3‘Q\/

B Rx2
» T /
- PSS
"~ B2,

3 marks

Q50. 9
3y B
2yx2y3
2 marks
Q52.
V20 + V45
Q54.

V75 — V48

Jis¥s —ViV3
—eE V3 :\{t\s—/
v 3 marks

April 20, 2016
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Q55.

Twio vectors are defined as u = (_g ) and v = (_;‘ )

(a)  Find the resultant vector u + 3v.

= (-:::) —\z -G
{b)  Find |u + 3v]|. WA+IN = (:‘;\)\.;( - ( &

W:W:i{{y

4 marks

"

e s\ =

Q57.

Find the point of intersection of the straight lines with equations

2x+y=5 and x—3y = 6.

- =15 ~aaz b
2x+a=D 0 Loty /s By
;.-%:L X~§g:" =3

3 marks

Q59.

The equation of the parabola in the diagram above is y = (x —2)? - 9.

~e= &= 'T\)/
(a)  State the coordinates of the minimum turning point of the parabola.
R
.'\M‘é‘ = [o-"& 9
(b)  Find the coordinates of . &3 ™" “ -3 /

Doe20 = bR

(c) A is the point (~1,0). State the coordinates of B.

AL-1S) B\(/”:"fz g,g,.,.?ft‘g“""“- v

4 marks

Part of the graph of y = cos bx® is shovm in the diagram.

State the value of b.

1 mark

Q58.

bi-bae o=tl=3 =]

PN SRS D&
A parabola has equation y = x? — 3x + 7. q - ‘?.“im

Using the discriminant, determine the nature of its roots.

o> U £O /

')M o 8 ea)

3 marks

Q60.

(BRI S (x&'l)

3
Express ——

xEOx=2, . o _
T Tz XF0xFL asa single fraction in its simplest form

e .
- 2x+b= Bl
20 aD) =S% x4 ;c:a\yr‘

=, T x‘-*:‘j/ N

3 marks

April 20, 2016
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Q61. Q62. Multiply out and simplify

The total emissions of greenhouse gases by the USA in (3X -1 )(2)(2 + 3x - 4)

2007 amounted to the equivalent of 7.2million tonnes of (- L=\ =1 \-/"Dx M
carbon dioxide. If the annual increase |.n gmlssnons is 650 :ﬂx‘\/ﬁ se ¥4
1.2%, calculate the total amount of emissions of

greenhouse gases by the USA expected in 2010. Give
your answer in millions of tonnes to 2 s.f.

722 10122 - T ubzdasu2 3 marks
= 7. Seaihon Lonnes
[ —
4 marks
The diagram below shows the graph of y = ax’. N
50 za( N /
. - - ¥
Change the subject of the formula to r. y=ax? 50 2125
az2
. A (5, 50)
A=4mr. — 2 /
Gag=Y
P
$ar
Find the value of a. 2 marks 2
2 marks
Q65 150 patients have been given a flu vaccine.
M The data is shown in the table below.
, b2/ Q66.
GENDER
AGE
male Jfemale
I
5 or under + 3
) 6-15 7 8
0 o0 50 * 16-59 37 47
60 or over 12 32
1 20
What is the probability that
\ 2
The gragh of y = sinx* is shown in the disgram. (a) apatient given the flu vaccine was male and aged 60 or over? ;:‘o —
State the value of b. 1 . o - ) - , ! \)g
(b) apatient given the flu vaccine was aged 5 or under? -
L T e
1 mark

2 marks
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Q67.

Joan buys gold and silver charms to make bracelets.
2 gold charms and 5 silver charms cost £125.

(a) Let g pounds be the cost of one gold charm and s pounds be the cost
of one silver charm.

Write down an equation in terms of g amiyillustrate the above
information. 23 L B5=12S

4 gold charms and 3 silver charms cost £145. QS + 35 =4S \/

(k) Write down another equation in terms of g and s to illustrate this
information.

(¢) Hence calculate the cost of each type of charm.

~ _ano
23,1, 55 =125 L?(-—tj _/b \Z us
PR
o + 33 = 14S 35},,..:-%
=40
s =
204 9(15) =123 s=0o
=125 ——
‘2\‘_:’)*75 °. PO Acharm costs £15 /
6 marks 2:5\% %25 Achain costs £25
2

x° — 2x — 3 cuts the x-axis at the points

The parabola with equation ¥
Q69.

A and B as shown in the diagram.

y=x'-2x-3

>t -1k -5=0

Q68.

Solve the inequality

dx—>=Tx—20.

lx €% — ‘5/

~Te O xe

A & -5/
3

L3S/

3 marks

Q70. S e

2.
AN x24(3)
Solve the equation c=2 b c==D 2% X

April 20, 2016

(x_\,\ X;g—:ﬁ) =3
2l =8 S =B = 23+ Tx—3=0. s ER L i

= = =D . )
e Give your answers correct to 1 decimal place.

A Y
= -z \{ 3 \/
(b) Write down the equation of the axis of symmetry of y = x” — 2x — 3.

INER-D) BCb:O) 3 marks
N~ ~ = = & Yfor x:«S\?/
=z |\

1 mark 4 marks

() Find the coordinates of A and B.

A mobile phone mast, 18-2 metres high, stands vertically in the centre of a

Q71. Q72. i
It is supported by a wire rope, 19 metres long, attached to the ground ata
point on the circumference of the circle, as shown.

ABC is an isosceles triangle with angle ACB = 30°. C
q*-1%-2% =296
AC = BC = x centimetres. I 5
X T=29.74 19m
Aree =LaeSinC a 182m
\ . x =5 "")\/
=t ocxx xS 3O xem xecm
9 T4 xasin30 C=nxD
Coxtl = BQ.ém\/
The area of triangle ABC is 9 square centimetres. -
Calculate the value of x. V6= xl*sr\}y A B
)

%= }‘-1 * Calculate the circumference of the circle.

TR e
7_-\6/‘ 3 marks

3 marks
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Q73.

As the pendulum of a clock swings, its tip moves through an arc of a circle.

2=
2460 X .S’L‘ 2z
3677

(o] 2«

AT
x
Spo X A x 109

50cm :3&'-\)/

o
= =42/
‘The length of the pendulum is 50 centimetres.
B The length of the arc is 36-7 centimetres.
A o - _-" Calculate x°, the angle through which the
367 em pendulum swings.
4 marks
Q75.
L
N 2
; 3 a 03 /
a X P . —_—
(a) Express 2 inits simplest form. ;% :—¢

o ' L“a“=0~\/‘

) 2 ’(V/B 2.\(5
(b) Express 5 asa fraction with a rational denominator. ¥3 '\ﬁ = ?

2.4 . L
(¢) Express sty xF 0, x# =3, as a single fraction in its simplest form.

2(x+3) + U

2o+ b 4+l bx+b
o= [
x(r_\.{»?/' \}P"T)‘) = \)/
7 marks

Q77.

Change the subject of the formula ¢ =S—qt tos. '- S "*‘»

2 marks

=
3o ,—o»||"{%..‘

April 20, 2016

Q74 Water flows through a horizontal pipe of diameter 60 centimetres.

The surface width, AB, of the water is 53 centimetres.

toa0t21.5 7
=30 215y
2 14¥3-75
2 = f s

vw‘ x -9 o2
I d—.}o-‘l'—'g"“”f

(@) Calculate the depth, 4, of the water in the pipe.

60 cm

(B) What other depth of water would give the same surface width?

60 ~ (% = L
5 marks
Q76.
2 35 metres — o
b ol FEROTERR DB A
los %= 325
DB
- 5 o
be Ces\O

The diagram shows part of a football pitch with players at A, B, C and D.
BC is perpendicular to CD.

CD =35 metres, angle CDB =10°, angle BDA =10°, AD = 34 metres.
Find the distance from A to B.

szbzﬁ_cL;LIchsﬂ

')
AR -3&0 «35% - ?-*0“‘"35\5/&’
22 = 38 ° ?«\/

Q78.

The arch of a railway bridge is represented by a parabola. The equation of
the parabola is

y=20-(x-3)%

(a) State the coordinates of the maximum turning point of the parabla 2
p.e}

(b) State the equation of the axis of symmetry. J

x =3/

(¢) Points A and B have the same y-coordinate.
A is the point (0, 11). State the coordinates of B.

o] +3>-3» =6

E,(é,:/\»ﬁ‘
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Q79. Q80.

Posifive. Sin
Solve the equation In the diagram,
s PQ is the diameter of the circle P Q
4sinx°-1=0, 0<x<360. o:é, o 3 s PQ =12 centimetres
EATERA @\ o ko s PR =10 centimetres.
Lsinx=l
R J Calculate the length of QR.
Simre =0 . L
Give your answer as a surd in its simplest form.
x o= SRt > o IS S
x-{q-“:"/ ’L;\%o'-té‘:‘;“
B = G\le ‘21.-\07.\/

= luu -9e

T LY
GR;@:W\(‘: =2y \/ 3 marks

‘The graph below shows two straight lines. b - Z.X. - ,_3 Q82 . N .
N —— x

Q81. = == zyaoc= U X2
s x+2y=14
y-2 m'_B‘/

Ltj Lac =28
S5u=2s
y==
e — ‘The equation of the parabola in the above diagram is
5 -20¢="D ,
y=(x=1)2-16.
© -—2zx = (a) State the coordinates of the minimum turning point of the parabola. 2 (L .,L{,)
_ (5) State the cquation of the axis of symmetry of the parabola. 12¢ = |
I ==Yy (9) The parabola cuts the x-axis at A and B. Find the length of AB. 3
x+2y= R —
G = (== 1k "
ENL PP
A P s O ==
The lines intersect at the point P, (y PRI TR )
Find, algebraically, the coordinates of P. o s agm— 530
4 marks x-S =S
et = =Y
S
JUREN
=)
(-3,0) )

(::x\skx,\ AR =D

A sector of a circle, centre O, is shown below.

Q83. Qsa.

B
s
(@) Evaluate (292 = @ = @%/
23m
1 . 93w = 1 a-
(6) Hence find n, when (2°) G- N 1/
-2
L@
- 2. -
&% = L{D/ A
The radius of the circle is 2-3 metres. X~
Angle AOB s 65° 360 PaRiN D

3 marks Find the length of the are AB. 23 .2 bim
w X Ub =
—-——/f\( /B ,,7L.

3 marks
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Q85.

(a) Express /45245 as a surd in its simplest form.

(b) Express as a fraction in its simplest form

+

|

1
=, x#0. - TN a4
LR WRVEEE 0= \;DQ

Y

4 marks

Q87.

1. The sketch shows a triangle, ABC. e
B Lsiac
4 00 x120 xSABS

=543
120m ﬁ_-’y&

100 m’

Calculate the area of the triangle.

6. A container to hold chocolates is in the  oESSSESSS
Q89 shape of part of a cone with dimensions as
«  shown below.

—_—

RS
e
|

3236m i (\3";&7\' S 3%&32-)/
~(Exw x\S/"\x %)

T2lul. 66
Calculate the volume of the container. T 923 s
Give your answer correct to one significant figure. — 3 f//
= b2-0ben

- ?_C;QQQMB/
—

Q86 * A necklace is made of beads which are mathematically similar.

- %

The height of the smaller bead is 0-8 centimetres and its area is 0-6 square
centimetres.
The height of the larger bead is 4 centimetres.
Find the area of the larger bead.
5‘? - 25\/
Py 0% T D Deec-
SErus .
S L x2S = 15‘_“/

3 marks

Q88.

(a) (i) Factorise completely

swieon 390977
(ii) Factorise
o Gpna
(6) Hence express jzyi—;ﬁ_yé in its simplest form. f%
= 3‘7/5*5 >/

6 marks

(@) Factorise
Q90. Aoayr O +L3)(;g\—;’ D)
(5) Expand and simplify
(2x—1)(x + 4).
(¢) Expand 2t +5>"'"f\+ =2t *.]xj{
' -2

3

x; (3x+x_2). = b/xT *’f/\

5 marks

April 20, 2016
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MARK:
Q91 , The diagram below shows part of the graph of y= ax’ Q92. The graph of y=asin{x+5)°, 0<x <360, is shown below.

, v
y 2 :
3

2
45 = al-3 e : =3 ?
%o = ’ b 4o

o:S/ ' Twoved. Fo
= i N—L\\jqo)

mhkow3sSERE
S 8885588
0 X
-1
-2
Find the value of a. 2 5
Write down the values of a and b. 2

The diagram below shows the path of a small rocket which i fired into the
Q94 air. The height, & metres, of the rocket after ¢ seconds is given by

W) =160-r*
Q93. P i

The diagram below shows a circle, centre C.

G % ;sr‘
(a) After how many seconds will th rocket first be at a heightof 6ometres? 4
D h)=60
ot -t

12_bt 1 60-0
(t-bx - =0
t=b b= o
The radius of the circle is 15 centimetres. = ‘ !f \'»5‘\\ ﬁ'cs’r IGN &)miﬂg Qg‘.\ef (3 ﬁe\:mé&
Afs the mid-point of chord PQ. (b) Wil the rocket reach a height of 70metres? \/
Justify your answer. 3

The length of AB is 27 centimetres.

. ot -t
Calculate the length of PQ. LPA) R \51 _ }&l/ 4 ﬁﬂ&:\:{)’“ t
= RS-\l fr b0

=R é(‘( =0
{)ﬂ :\I_tacﬂ\ x. hai V)N/j- %\/
PSL=2x3 = 8em 7 Y e /

< a8 — bt = blnabres
= F wort ew f‘mdf\“?Om’t:?/

Q95 e Q96 The diagram below shows the position of three towns,

Two groups of people go to a theatre. Lowtown is due west of Midtown.

Bill buys tickets for 5 adults and 3 children. The distance from
The total cost of his tickets is £158-25. + Lowtown to Midtown is 75 kilometres.
* Midtown to Hightown is 110 kilometres.
(a) Vrite down an equation to illustrate this information. 1 + Hightown to Lowtown is 85 Kilometres.
. 158
So+ Bc = Hightown

(b) Ben buys tickets for 3 adults and 2 children.
The total cost of his tickets is £98.

Virite down an equation to illustrate this information. 1

Ra+2c =%

Lowtown 7.&&\1 Midtown

() g::ﬁjumte the cost of a ticket for an adu?and){he cost of a ticket for a é Is Hightown directly north of Lowtown?
| Saac=B8B (1) 0ag £>< b / Justity your answer.
r2c=B® (3D EL‘EC__“__ W s sboles Kk oo e - %5@/
« -5y bt e e i e bapetenuse

8(72. 5) +3c = B85 < RS § C}Lz
WA D T3 =15%2 &8+ 1D ro
2 = US TS 2350 2:00/

¢=15728
An sdult hickekcosts 22250 2 Hiqldown is ot Jwec&‘w SN o{l Laskown
f\hd\\‘a‘s ek coshs §182% \/ 99 ’%’W\S{”‘ s not- “3\'&‘ wj\w‘ \/



